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1. +T
(1) T
U+ BEt = 1. 000
Mg E T (PR ) Ak A HI m3 34. 000
HEL bi%54 m3 137. 000
FrangE] O\ 77 OF F B 1) FEARAIE 1 m3 136. 000
Mg E T (B1H) Ak A H1 m3 17. 000
A HFEA HEBAR A m3 134. 000
kO 15 I bi%54 n 86. 000
U+ #E (DA = 1. 000
Mg E T (PR ) Ak A HI m3 295. 000
FrangE] O\ 77 OF F B 1) FE AR 1 m3 445. 000
Mg E T (B1H) Ak A HI m3 173. 000
PEHI EAEA FEARTA m3 652. 000
k) 3L T F Ak m 287. 000
%t = 1. 000
F U 1 R, B3 L m3 69. 000
2 BEARHEEE U [E 6 m3 35. 000
. = 1. 000
T ok i BYE 1, 3. 31km m3 134. 000
F ke A, 3. 31km m3 652. 000
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R 7 HBb  MRBEA ABAAHAR  IEET IR TS GROFRMAS) THRms
THE - FER - AR Biks AL Kok i &
Bk £ BERHE LA o m3 786. 000
BT = 1. 000
AR L (A 1) m 53. 800
AR T (1BEAH) m 82. 200
R R RIE S AGUN RIS ) B i 586. 300
Wil T (R4 b T %;ﬁfﬁgﬁ)j\ﬁﬁ%ﬁ = i 586. 300
AKTHE AR 7 EE.;?SI“L RI7=MEX-60RS | 600. 000
s
(1) T
¥ L v 1. 000
ar 7 ) — MEHE L JE & 15cm nd 145. 200
R R B m3 21. 800
4 MR T ¢ 6.0X150% 150 nf 135. 000
EAE IR D FR T (1) m 26. 300
A Hubk VE B MEAHEEL B AR £=10mm i 3.200
fites BLavy)-h m 1. 100
. LI RE L
(1) st L
ETALES K 1. 000
Wi T (R4 b T %ﬁ%ﬁ TALREMN 85. 700
Rkl AL & VIR LB kK7 nf 287. 300
. WERE T
(1) bk T
R T N(z.é?mz 8~NO. 353+7. 2 * L 000
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THE - FER - AR Biks HAL Kok i &
)bk — g, 18-8-40 (7)) m3 19. 200
AR IE T m3 19. 200
LI nf 9. 900
e T N?égég@?wm 353+7. 2 * L 000
ays J—h — 2, 18-8-40 (i 4F), m3 242. 600
AR IE T m3 242. 600
R — T, S A AR ) m 244. 000
fites — R, N S m 18. 800
Fy v hUr—7 m 62. 000
SR IE m 66. 200
MR AR U i e = L HWNEVU TS R4.0m N 25. 000
Kk7 45— B 75F 1 52. 000
5. HEKfEk T
(1) Bk sz T
Pk sk L K 1. 000
WIS L —F o 7 (EBRZ ) PUITT =25 995400 g 1..000
AR IE T it P R OO Al LIE AR $6% m3 1. 200
R — I, /N ) m 8.100
S L 20cm nf 3. 700
E T Ty s, 84. 4km m3 0. 900
ST 75 & 50cm X i 120cm m 2. 000
TR i HCH, 84. 1km m3 1. 100
7L AR LI (30 R0, 6m/f#) E%ffi%’fﬁég%w”%% m 38. 000
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TAE - FER - AR ok HANT Kok i =
7 L% A b LB R0 om/E) | PER D EESILE 9. 500
BRABE HCE, 84. 4km m3 6.700
6. JEHATE MR T
(1) B AT i T
E AT R A T =X 1. 000
D= V-rERiE %;%%E%%%ﬁﬁ&m m 42.000
2/~ A, YR LC-2B,
B =h v -ER s AR CEER30mEL ), m 20. 000
SR
i SRR D13 kg 92. 400
7. AT
()T
Gan v 1. 000
VAT BTREA T m 54. 000
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